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The value of k& for which the system of linear equations
r+2y=3,9z+ ky+7=01s illcug@iﬁ@ﬁl}ut 1S

oy 14 Y 2

(a) 3 ) 7

(c)




We have T+ 2y — 3

and dr+ ky+7 =0
If system is inconsistent, then

00‘*

From first two é{l;ﬂ%l‘-; we }hu e

N 4.
© 1_25 k=10
3 k

Thus (d) is correct option.
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For which value(s) of p, will the lines represented by the
following pair of linear equations be parallel

3r—y—5 =0 690“\
S

| O
6xr—2y—1p ;‘QO\(
(a) all real values exceft 10 (b) 10

(¢) 5/2 (d) 1/2




We have, 3r—y—95 =0

and 6xr—2y—p =0

Here, Gy =3.b =—1,¢ =—5

and

pFOX2=pF10




If the lines given by 3z+ 2ky = 2

parallel, then the value of & is




i W L W
We have 3x+2ky—2 =0
and 2¢+95y+1 =0
Condition for parallel lines is
a _ b . ¢ :
a bg j Co "'(1)
Here, o =3.,00 =2k,C
ere, 1 ¥ , é @N\Q
and a = 2.b @\"/\% = 1
From equation (i), we have O\(O
350\ S .
V7 5 T 1
\
O
Considering, % — ?f‘ g -4 _1 In any case
I — 15




The pair of equations z+ 2y+ 5 =0 J\Hl — 3T — Gu+ 1 = ()
lm.:-; . @@
(a) a unique solution e \)O\‘O r ) exactly two solutions

(c) infinitely many H%{Q\PIUHH (d) no solution




Given,equations are

r+2y+95 =0
and -3z—0y+1 =0
Here, @ = 10i = 2, € =9 CON\
and @ =—3, b =—6, ¢ :\/]‘$€‘
a 1 O$ 2 1 ¢ 5!

Now L R s __ 2 4 _
(- ’g\) 9 O o Co 1

a _ b + G

a b Co

Hence, the pair of equations has no solution.
Thus (d) is correct option.




One equation of a pair of depenggnt linear equations

—dz+ 7Ty = 2 The second equa.tiage&(.)n be

(a) 102+ 14y+4 =0 &040“ (b) —10z— 14y +4 =0
\2
(c) —10z+ 14y + 4 2@ (d) 10z — 14y =—4

4 ™ & o




N, e
For dependent linear equation.,

(1 b] Cy

s b,

Checking for option (a):

a b] 4 . §]\
QG b S0, Uptl@a(@ga rejected.

So, c:uptmn\ﬁ) is also rejected.
Checking for option (c):
-5 _ 7T L =2
—-10 14 r 4
So, option (b) is also rejected
Checking for option (d):




If = a and y = b 1s the solution of the equations z— y = 2
and z+ y= 4, then the values of a ém@ﬁ} are, respectively

(a) 3and5 \)O\(O@(’h) Hand 3
(c) 3and]l




Aruna has onlv 1 and ¥ 2 coins with her. If the total
number of coins that she has 1s 50 and tg@ amount of money

\gta%p I and ¥ 2 coins are.

with her 1s ¥ 75, then the number
o

respectively
(a) 35and 15 R (b) 35 and 20
(c) 15and 35 (d) 25 and 25




. = " ="

Let number of ¥ 1coins = z

and number of T 2 coins = vy
Now, by given conditions,

r+y = 90 ..(1)
o
Also, TX1+yX2 =75 &?/G
N\a ;
T+ 2y = ?F'b\(O el

Subtracting equation (1) éélim equation (2), we get
O
(z+ 2y) — (\QW\—?}] = 75— 150

i = 25
From equation (i), r = 75— 2x(25)
Then, r = 25

Thus (d) is correct option.
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The father’s age is six times his son’s age. Four years hence, the
age of the father will be four times 11 HG@“\I s age. The present

ages (in year) of the son and th \{b@ﬁlm are, respectively.

(a) 4and24 o \6‘54\) (b) 5and 30
- o
(c) 6 and 36 (d) 3 and 24




Let the present age of father = = years

and the present age of son = y years
Four vears hence, it has relation by given condition

(z+4) =4(y+4)

r—4y =12 sl d )
As the father’s age is six times his son’s age, so 1@\11&19

z = 6y (2)
Putting the value of z from ﬂqummn @,\ﬁ oqnﬂfmn (1),
we get
62 — 4y \:5@“2
GVE 12
y =6
From equation (1). T =06X86
Then, r =36
Hence, present age of father is 36 year and age of son is
b vear.

E &




Assertion : Pair of linear equations : 9z+ 3y+ 12 = 0,
8z + 6y + 24 = 0 have infinitely many solutions.

Reason : Pair of linear equations az+ bhy+ o
= 0and e,z + b,y + ¢, = 0 have infinitely many solutions, if

o _b_a (;Ovh

@ b We

(a) Both assertion (A) and r&a&@ﬁ (R are true and reason
(R) is the correct expl ¥ of assertion (A).

(b) Both assertmn\)@&? and reason (R) are true but reason

(R) is not the correct explanation of assertion (A).

(c) Assertion (A) is true but reason (R) is false.
(d) Assertion (A) is false but reason (R) is true.




From the given equations, we have

9

18
1

Both assertion (A) a EEISEJII (R) are true Ell‘ld reason (R)
is the correct explanation of assertion (A).
Thus (a) is correct option.




By b N
Assertion : z+ y—4 =0 and 22+ ky — 3 = 0 has no solution
if k= 2.
Reason : aqz+biy+¢=0 and az+ by+ c,=0 are

- : k
consistent if 2L + M

1 ky

(a) Both assertion (A) and reaso é\/&ﬂg’ are true and reason
(R) is the correct prlfllldtlulbgﬂqh%rt1011 (A).

(b) Both assertion A\b\&?ﬁ reason (R) are true but reason
(R) is not the cor rr.,@t explanation of assertion (A).

(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.




For assertion, given equation has no solution if
1 1 + —_4 g &

1.e. &
3
o

2 k-3

O
I — 9 \%Dv*#\%%huld:ﬂ]

Assertion is true. 0650
oW
Both assertion (A) and reason (R) are true but reason (R)

is not the correct explanation of assertion (A).
Thus (b) is correct option.




In a number of two digits, unit’s d@f@dﬁ\ twice the tens digit.

If 36 be added to the nmnberé\(ﬂ@é\ digits are reversed. What

is the number ? \)\a%‘o

N\




"ay " "a. -
LLet z be umts digit and y be tens digit, then number

will be 10y + 2

Then, 3 =24 (1)
If 36 be added to the number, the cil%lcggharﬁ rev [-“'I"-:E'{i e
number will be 10z + . S &e
10y + z+ 36 K\m‘r—i— 1
Qab\ﬁ\@xy = 36
r—1y =4 sl

Solving (1) and (2) we have =8 and y=4.

Thus number 1s 48.
P ™
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A fraction becomes 4 when 1 is added 5@114&‘511 the numerator
and denominator and it I}EEUlHLH@/\v\ﬁlml 1 1s subtracted from

both the numerator and {lug@bﬁllmtur What 1s the numerator
Q\)
of the given fraction 7




Let the fraction be i ,

and

Solving (1) and (2), we have z = 15, y = 3,




101z + 99y = 501




We have 99z + 101y = 499
101z+4+ 99y = 901
Adding equation (1) and (2), we have
200z + 200y = 1000

z+y =5 ((/GON\ (3)
Subtracting equation (2) from E(bkgi‘smn , we get
— 2+ 21%?;(3)9
Wy =1

Adding equations (3) and (4), we have
2r =6 =2 2 =3
Substituting the value of z in equation (3), we get

3+y =98=>y =2







z+1 y—1
9 T3

We have

3(z+1)+2(y—1)
3z+ 3+ 2y—2

3T+ 2y = O«
=1 g W

‘ p.
3 ﬁ\/\$
2(z - 1)4{)@(@ 1) =48
3@5‘3 +3y+3 =48
\)ﬁ\Q 2+ 3y = 47
Multiplying equation (1) by 3 we have
924+ 6y = 159
Multiplying equation (2) by 2 we have
4r+ 6y = 94
Subtracting equation (4) from (3) we have




In the figure, ABCDFE is a pentagon with BE |l CD and
BC I DE. BC is perpendicular to CD. AB=5cm, AE=5
cm, BE =7 em, BC = z— y and CD = z+ y. If the perimeter
of ABCDE is 27 cm. Find the value of =z and vy, given z.
y + 0.




We have

.,

\) T+ 1 7
Also, perime 0@ 3CDE is 27 cm, thus
AB+ BC+ CD+ DE+ AFE

dt+(z—y)+(z+y +(x—y +5
3z—y =17
Adding equation (1) and (2) we have
4 =24 » £ =6

Substituting z = 6 in equation (1) we obtain

y:




Half the perimeter of a l*uct.ﬂugul@@@%x]}tnlun_. whose length 1s

: : . \ : . . .

4 m more then 1its width. \g%\@% m. Find the dimensions of
4\
garden. N




. '.. = a : T a

Let the length of the garden be z m and its width be ym.
Perimeter of rectangular garden

p =2(z+y)
Since half perimeter is given as 36 m,
z+y = 36 C,ON\ (1)
Also, T =y+4 $€
\/\
or r—y =4 \(Q$ sele)
Now adding eq (1) and é@(\.\é ave
_ _ 40 _
0$\Q\2)$ =40 == 5 = 20
Subtracting eq (2) from (1) we have
2y =325 1= =16
Hence. lenoth is 20 m and width is 16 m. I|||'...-




A part of monthly hostel charge is fixed and the remaining
depends on the number of days uuLOJMH taken food in the
mess. When Swati takes food iu&/ﬁ@ days. she has to pay Rs.

3,000 as hostel charges w 1]59‘ as Mansi who takes food for 25
days Rs. 3,500 as IIUB@S{P -::lmrgm Find the fixed charges and
the cost of food per day.




L.et fixed charge be z and per day food cost be ¥

4+ 20y = 3000 ..(1)
T+ 25y = 3500 sl 2}
Subtracting (1) from (2) we have CON\

5y = 500 :»w@emo
L. _ . O
Substituting this value of y%quﬂ)\l‘): we get
Ke:
T+ 20(5@?— 3000
r = 1000

Thus z = 1000 and y = 100
IFixed charge and cost of food per day are Rs. 1,000 and
Rs. 100.




The ratio of incomes of two purwml%cﬁ@ll and the ratio of

their expenditures i1s 9:5. I mclmxh them manages to save Rs
400 per month, find thug\yﬁﬁ%nthh 111COINES




Let the incomes of two persons be 11z and 7x.
Also the expenditures of two persons be 9y and 5y.

11z — 9y = 400 ..(1)
and (z— 5y = 400 (D)
Multiplying equation (1) by 5 and equation é@) by 9 we
have O
N\

552 — 45y = 2009(0@/\ (3)
0

and 631 — 453\;Q 6—%’9@8
Subtracting, .%"Lbﬂve\)@@ ion we have

— 8z =—1600
- S N T

Hence Their monthly incomes are 11 X 200 = Rs 2200
and 7 X 200 = Rs 1400.




The students of a class are made tﬂ@tﬂﬂd in rows. If 3

students are extra in a row. thﬁw\&@nﬂuld be 1 row less. If

3 students are less in a mxa@cthew would be 2 rows more.
Find the number of a\g@d%nta in the class.




= . _ =

l.et the number of students in a row be £ and the number
of rows be y. Thus total will be zy.

Now (z+3)y—1) = xy
TYy+3y—r—3 =1y
—z+3y—3 =0 GON\ (1)
W
and (z—3)(y+ 2) Oz\(@?\\’
ry — 3y + %gg%‘ﬁd: Y
m\—ty—ﬁ =i i)
Multiply equation (1) 2 we have
—224+6y—6 =0 ...(3)

Adding equation (2) and (3) we have
Sy — 12 =0




Production : Ridhima Electronics Pvt . Ltd is main supplier
for CASIO for electronics component. They manufactures
keyboards and screens for graphing calculators at plants in
Bangalore and Bhiwadi. The hourly pru%mtiun rates at each
plant are given in the table. Huw\ggﬁfl%f hours should each
plant be operated to fill an urék@%r exactly 4,000 keyboards

and exactly 4.000 HEI‘L‘U]]@%‘ED«\)
: \)@Q .

Plant Keyboards Screens
Bangalore | 40 32
Bhiwadi 20 32




Et . " o

Since we require 4000 keyboard, thus
40z + 20y = 4000

2+ y = 200 (1)
Since we require 4000 screens, thus

32z + 32y = 4000 CON\

r+y =125 @/\&?’ (2)
Subtracting eq (2) from (1) w b@‘{'@

\)‘%C“”}’ hours
Substituting ﬂbme\\)ﬁ\le of z in (i) we have

™+y =125
y = 125 — 75 = 50 hours

Thus Bangalore plant should be operated for 75 hours and
Bhiwadi plant should be operated for 50 hours.




Presale Order : A wireless store owner takes presale orders
for a new smartphone and tablet. He gets 340 preorders
for the smartphone and 250 preo %ﬁ@@w\mr the tablet. The

combined value of the prLur{lLthVP‘\{\ s 27,050,000. The price

of a smartphone and tdhlg{g,%fug{;thur 1s Rs 96500.

* NS
(1) How much does smartphone cost?

(11) How much does tablet cost?







